
Weight 

lO .- -

97Og = 160kg = O·97kg L-- - -- -- ~ 9 0 -- ., 109 - -1 kg - O·O1rg 
- 100 -

-- 9-~~1- .----=:-11'1 -

---~ , 25Og = ..Qkg = O·25kg 
88 0·8k 3kg 1 OO 88Og = 100 kg = O·88kg 

___ - t!Og = 1~0 kg = O-43kg 

1. Complete the grids using the scales above to help. 
- -- -

gr-ammes I fraction / decima( - ~mes I fraction I decimal 

(a) 

(b) 

(c) 

Cd) 

(e) 

(f) 

(g) 

2Og 

9Og 

1OOg 

16Og 

35Og 

8OOg 

75Og 

2 
100 kg O·O2kg Ch) 

(i) 

(j) 

(k) 

(l) 

(m) 

(n) 

7009 

44 
100 kg 

93 
100 kg 

1 
4 kg 

O·Skg 

O·24kg 

O·O3kg 

Answer these. Be careful, they are more than 1 kilogramme! 

2. ( 1 kg 1 OOg = 11 OOg J \ (a) 1 kg 7OOg = g ! Cb) 1 kg 45Og = 

(c) 1 kg 5Og = g j (d) 2kg 4OOg = g ! (e) 2kg 5OOg = _ 

(f) 3kg 99Og = g \ Cg) 4kg 7Og = g ! Ch) 5kg 87Og = _ 

(i) 21 \ Q) 3¾kg = i (k) 4·28kg = 2100 kg = g g - g 

3. ( 13OOg = 1 kg 3OOg J : (a) 15009= _ kg _ g j (b) 19OOg = kg 

g 

g 

g 

g 

(c) 195Og= _ kg _ g i (d) 2200g = _ kg g \ (e) 20309 = kg _ g 

(f) 296Og =_ kg g \ (g) 3O8Og = _ kg _ g ! Ch) 365Og = _ kg g 

(i) 3500g= _ kg g ! y) 37509 = kg g j (k) 39909 = _ kg g 

@) 
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